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[image: image1.png]Assuming that the bar is uniform, 2.0 m long and weighs 600 N, find the forees
acting on the bar.





[image: image2.png]Assuming that the bar is uniform, 4.0 m long and weighs 600 N, find the forces
acting on the bar.
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[image: image3.png]Assuming the bar s uniform, 1.5 m long and weighs 500 N, find allthe forces
acting on the bar.
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[image: image4.png]5. Bar s uniform and weighs 500 N. Sign weighs 1000 N





[image: image5.png]2. Assuming the bar is uniform, 2.0 m long and weighs 500 N, find all the forces
acting on the bar.





[image: image6.png]6. The horizontal bar is uniform and weighs 500 N. Sign weighs 1000 N.





